and,

T T
HE W
| !

‘Rt
Vb ERLE

o Ve
il r:,i r

Lyt

ENGINE ROGHS
N0 BODY ROLL

Lindsay’s ‘Rest of World’ Defender now has a rockin’ 2.8 litre engine but that extra performance
has left it with too much body roll. It wasn't fitted with anti-roll bars from new. It is now.

the vehicle on a more even keel.

In theory, anti-roll bars have no effect on
suspension stiffness. On a perfectly level
road surface, thal would certainly be frue,
However, undulating road surfaces cause
each wheel to rise and fall in opposilion
{o the wheel on the other end of the axle
When this happens, the anli-roll bar tries
to keep the vel level and this has
the effect of causing more suspension
sliffness. It's worth bearing that in mind
when specitying the fitting of thicker
anti=roll bars than standard. It's alsa worlh

EVEN IF your Land Rover was fitted with
anti-rall bars from new, you can change its
handling characteristics by upgrading them,
And if it was never fitlted with them in the
first place, you might want to improve its
on-read performance by adding a pair.
Anti-roll bars do just what they say on the
tin. As the vehicle is cornering it tries to roll
{o one side but anti-roll bars transmit some
of the rolling-effect away from the wheel an
the outside of the comer, onto the wheel
on the inside of the corner, This makes the
suspension comprass more evenly, keeping

94 October2010 LAND ROVER monthly




Techno file —

ANTI-ROLL BAR CHOICES

THERE ARE several different anti-roll bar kits available both from Extreme 4x4 and IRB Developmants, comprising various thicknasses
of bar to produce different handling characteristics. Both IRB and Extrema will be happy to advise regarding your particular needs. The
parts listed here relate to the drawing shown In pleture 23,

NO: DESCRIPTION (per bar uniess stated) QUANTITY

Fitting Instructions

18mm Anti Roll bar Front

25.4mm Anti Roll Bar Rear

Urathane Anti roll bar bugh kit (2 pieces)
Urethane Anti roll bar bush kit 26,4mm bar
Bracket Strap Anti roll bar (per bar)

M10 Nyloc nut

M10 X 30mm Bolt

M10A Washer

Ball Joint Assembly

M16 Myloc Nut

Urathane Anti roll bar bush kit for ball joints (4 pieces)
10 M18 Washer

11 M18 Pin M16 Thread

12 Split pina

L= B < R . B
K3 ORI B3 = R R @0 B B B3 B = =k =

remembering that anti-roll bars will be
detrimental lo more exireme off-road work
because they won't allow the axles to 'twist'
as much as they otherwise would. You pay

your money and take your choice. anti-rall bar mounting brackets, Extreme before inserting the rivnuts to provide
If, after purchasing an Exireme kit, you can supply new brackets lor fitting to the captive n 1 ihe chassis. New rivauls
are unsure about any of the procedures bare chassis. The chassis brac t are supplied with the kil and Extreme also
described here, you are welcome {o phone seen here is for a 90/0D1/RR Classic (as sell an excellent riv-nut toal to set the M1D
Extreme 4x4 Ltd and ask for technica an illustration). The 110 rear is lhe anly riv-nuts into the chassis. (I also does other
advice. one wilh the four bolt fixing. size riv-nuts for light guards and similar
accessories.) [t retails at £37.45 plus VAT
PICTURE 2 My Defender came with PICTURE 4 The new brackets (they
anli-roll bar brackets already welded o the seem to be really well-made) are folded PICTURE € The axle mountings congist of
chassis. This mak particularly « o fit  and drilled ready lo be fitled to the a pair of very nicely made brackets for the
anti-roll bars whe ne have been fitted chassis. end of each axle. You can see the welded-
before, You can carry oul this work withoul on variety already fitted to my axle (arrow).
removing lhe wheels, PICTURE 5 Extreme can advise on lhe
correcl location for the brackets and PICTURE 7 The back of the bracket i
PICTURE 3 For earlier Defenders without you can then drill holes in the chassis seli-locating on the Panhard rod bracket.

1

[ replacing existing Anti-Rolls Bars

1. Undo the two M16 nuts and bolts that
connect the ball joint to the existing
anti-rall bar (if filled) and remove the split
bushes.

2. Remove the split pins from the exisling
ball joints and undo the castellated nuts.

3. Tap the body of the ball joints firmly lo
release the taperad shaft from the axle
brackets and remove.

4. Undo the two anti-roll bar clamp nuts and

bolts; =

LAND ROVER monthly October 2010 95



technofile by,

PICTURE 8 Here yo
grange Extreme anti
re 1mr11Fl1d=|j by them a.nd nmp ﬂt.‘lj
1 s of an

original Land Rcr-.fer anti=roll t:-ar. ThL effect
of a thicker rear bar is lo increase oversteer
whi what you're

. I'm not so sure.

PICTURE 9 |an
fitting the polyure
bar...

PICTURE 10 .. ;
maounting bra ats must be
] Iﬂq (if bent
ar rear

copper
of every mounting B C elp hold welded

I u don't nofice i
Wikrth asrosol g a to fit the bofts! lan carefully dri
ounting e mounting ok hif ¢ i Bmm holes...

PICTURE 715 ..using ihe Wiirth Protection
Spray again to protect the bare metal...

96 October 2010 LAND ROVER monthly




PICTURE 16
the 10 mm bolts pro

PICTURE 18 |an pushed the taperad pin
into position...

PICTURE 19 ..and o
castellated nut plus

PICTUHE Iﬂ ‘r’au can partll,' thhtr“rn the

Techno file —

shouldered b

PICTURE 25 .
maunling pins
in the

LAND ROVER monthly October 2010 97




oriantated because there are no obsiruclions,

P.'CTUH‘E 36 |

1
n range b pe clean
P":TURE 27 bhefore _ e '-f & 1o front anli=ro 5 a |

the correct torque,

PICTURE 28 Hq tip from lan
Baughan: don't pusi in 1uII-

PICTURE 32 _.lan insialled the ball join
mblies lo the brackels on the axle.

PICTURE 33 1

anti-roll
PICTURE 34
tightened and

PICTURE 35 On the

matter where the

98 October 2010 LAND ROVER monthly




Techno file —

Lt
i I
:5.-1;; LS

L}
|

CONTACT

Extreme 4x4 Limitad

Durlte Works, Valley Road, Dovercourt,
Essex, CO12 4RX Tel: 01255 411411
www.extremedxd.co.uk

IRB Developments

lan Baughan's workshop is based near
Sutton Coldfield, Birmingham. Tel; 0773
082 0431 www.irbdevelopmenis.com

Wilrth UK Ltd.
1 Canlurion Way, Enth, Kenl, DA18 4AF
Teli 020 B319 68000 www.wirth.co.uk

LAND ROVER menthly October 2010 99





